
Economics 12                                                    Exam 1 Solutions to Version 1 (note the answers may be in a different order on your exam)
Spring 2008

Choose the one correct answer for each question.                                 Name: __________________________  

	___ 1.
	Marginal analysis refers to

	a)
	comparing the benefits and costs of choosing a little more or a little less of a good That’s the definition

	b)
	whatever must be given up to obtain something that is desired   Definition of opportunity cost.

	c)
	costs that were incurred in the past and cannot be recovered, and thus should not affect current decisions Definition of sunk costs.

	d)
	the equilibrium point where supply equals demand.


	___ 2.
	The market for oranges has seen prices rising while quantities have fallen in recent years. This is most likely the result of

	a)
	a rise in supply

	b)
	a fall in supply

	d)
	a fall in demand

	d)
	a rise in demand


Draw a supply and demand graph.  The only way prices can rise and quantity fall is for the supply curve to shift left, or decline.

	___ 3.
	"As the price of personal computers continue to fall, demand increases."  This headline is inaccurate because 

	a)
	falling prices for personal computers increases quantity demanded, not demand. 

	b)
	the statement is backwards: increased demand leads to lower prices. 

	c)
	a change in the price of personal computers shifts the demand curve. 

	d)
	falling prices for personal computers in

	e)
	a change in the price of personal computers shifts the supply curve. 


Demand changes result in price changes, not the reverse.
	___ 4.
	Specialization and markets allow people

	a)
	consume and produce a larger variety of goods and services

	b)
	to consume goods and services that they do not have the knowledge and skills to produce

	c)
	to learn a certain set of skills and then receive pay to buy other goods and services

	d)
	all of the above  This is the correct answer.


	___ 5
	Globalization has been increasing in the past three decades because

	a)
	rich countries now have the legal means of exploiting poor countries because of new institutions such as NAFTA and the WTO.  No.

	b)
	the internet has made it cheaper  to ship goods across the ocean.  No, the internet has made communications costs fall, not transportation costs. 

	c)
	improvements in shipping and air cargo have driven down the cost of transporting goods across countries Yes.  We talked about container ships as an example and flowers as well.

	d)
	there is less use of costly freight trains. Freight trains are cheap for some products. 


	___ 6
	According to Steven Levitt, what is the main reason that crack dealers still live with their moms?

	a)
	Because they don't earn enough money from dealing crack to pay for their own apartments.  Yes, he concludes they earn less than the minimum wage. 

	b)
	Because it's easier to hide their crack from other gangs in their mom's apartment.

	c)
	Because their moms usually live near where they are dealing and they can get to their street corners more easily.

	d)
	Because their moms provide security from other gangs.

	
	

	___ 7
	In an effort to fight global warming, the government bans the production and sale of new cars. This will affect the equilibrium wage and quantity employed of auto mechanics by

	a)
	shifting the demand curve to the left

	b)
	shifting the supply curve to the left

	c)
	shifting the demand curve to the right

	d)
	shifting the supply curve to the right


Note that the question deals with the market for auto mechanics, not the market for new cars.  If there are no more new cars, there will be an increase in demand for used cars.  Since used cars will require more maintenance than new cars, the demand for auto mechanics will shift right, leading to higher wages and more auto mechanics. So c 

	___ 8
	The most likely result of an increase in the minimum wage to a wage above the market clearing wage is

	a)
	there will be a shortage of workers in the market.  No, the quantity demanded is less than quantity supplied, so there would be a surplus.

	b)
	fewer workers will be hired and their wages will be lower than before. There would be fewer workers hired, but the wage for those who are hired would be higher.

	c)
	more workers will be hired a higher wage. No, a higher wage would lead to fewer workers hired.

	d)
	employers will be more likely to be able to discriminate among workers and choose based on their prejudices. Yes, if employers have many more applicants than they want to hire, they can make their hiring decision based on any criteria, including discrimination and prejudice.


	___ 9
	A poor country has decided to set a price ceiling on medicine, to make sure that it is available to the poor. The supply and demand are given in the table below. The equilibrium price is ____ and the equilibrium quantity is ____ before the price ceiling is imposed.

Price

Quantity Demanded

Quantity Supplied 

$4

2,000

500

$5

1,750

1,000

$6

1,500

1,500

$7

1,250

2,000

$8

1,000

2,500



	a)
	$6, 1,500

	b)
	$8, 1,500

	c)
	$5, 1,375

	d)
	$4, 2,000

	e)
	$7, 1,000


At equilibrium quantity demanded and quantity supplied are equal. That happens at a price of $6. 
	___ 10
	Division of labor

	a)
	can make production more efficient, but can not actually result in a greater quantity of output  Yes it can.  That’s what Adam Smith wrote about. 

	b)
	is a concept that mattered more in Adam Smith's time than it does today  It is still very applicable today.

	c)
	refers to the idea that small firms inevitably go out of business because they can not compete with large firms  No.

	d)
	means that a group of workers specializing in certain tasks can produce more than the same number of workers producing the entire good individually  Precisely.


	___11. 
	Over the last forty years

	a)
	the U.S. trade deficit has been stable but imports have risen by more than exports.  The deficit has risen, which means imports have risen by more than exports.  So the two statements contradict each other. 

	b)
	the U.S. has run a trade surplus in agricultural goods and jobs in the agricultural sector of the economy have risen. We have run a trade surplus, but the number of ag jobs has fallen.

	c)
	technological change in the manufacturing sector has contributed to a declining number of manufacturing jobs in the U.S. Yes, that is the main reason the number of manufacturing jobs has declined. It is not due to trade.

	d)
	the U.S. trade deficit has worsened and the number of jobs in the U.S. has fallen.   The trade deficit has worsened, but the number of jobs in the U.S. has risen dramatically in the past 40 years. 


	___12
	When a company's stock value rises, the company

	a)
	benefits because it is a sign that the company is doing well and, for example, it may make it easier for the company to secure funding in the future  Precisely

	b)
	benefits by getting some portion of the increase in value  No.

	c)
	is worse off, because the demand for shares will exceed supply  No

	d)
	is indifferent because when stock changes hands between investors, it has no effect on the company No


	___ 13
	The importance of the story of Galton's calculation of the weight of an ox by local townspeople is that 

	a)
	it shows how comparative advantage works in a group of people. No.  

	b)
	it shows that the production possibility curve must be bowed outward and not flat.  No.

	c)
	it shows that the calculation of important economic indicators, like price and quantity (weight in this case) is too important to be left to the random whim of large numbers of people.  No.

	d)
	it shows how large numbers of people reach the right conclusion (weight or price) even though none knows exactly.  Yes


	___ 14
	The prices of shares of stock that trade in stock markets

	a)
	are set on a daily basis by the corporation that issued the shares.  No, they are set by markets.

	b)
	can be predicted with a large degree of certainty by stockbrokers over the short term.  No, the majority can’t in the short term or the long term.

	c)
	are only allowed to fluctuate between government established price floors and price ceilings in order to keep financial markets stable.  No.  There  are no price floors or ceilings.

	d)
	are determined by demand and supply.  Yes.


	___ 15
	One of the most important reasons that governments pass laws that limit imports into a country is that

	a)
	it helps both the workers and the companies in the importing nation by protecting them from cheap foreign imports.  Yes, those are the people that are helped and they lobby for that help.

	b)
	it helps protect the environment of the nations that would be exporting goods into that country by preventing harmful production.  No.  There is little impact on the environment from trade, and in fact as countries get richer their environment improves because they can afford to spend the resources on improving it. 

	c)
	it helps the average citizen in the importing country.  No limits to imports hurt the average citizen in the importing nation by raising the prices they have to pay and limiting their choices. 

	d)
	all of the above.


	___ 16. 
	Approximately what percentage of the world's economies experience scarcity?

	a)
	100%; all the nations of the world.   Scarcity affects everyone, every nation, all the time. You can’t always get what you want.  In fact, you can’t ever get all you want.

	b)
	75%; the poorest nations of the world

	c)
	25%; primarily the richest nations in the world

	d)
	50%; the richest and middle income nations of the world


	___ 17
	If the U.S. government were to limit the imports of iPods in order to reduce our trade deficit with China  This question was based on the New York Times reading.

	a)
	American consumers would buy more iPods produced in the U.S. so ultimately they would not be affected by the import limit.  No. clearly the price would go up if they were assembled in the U.S. and people would respond by buying fewer iPods.

	b)
	the price of iPods would not change.  Higher production costs would mean higher prices.

	c)
	the company that would be hurt the most would be Apple since it receives the largest share of the $300 cost of the iPod. Most of the value (and cost) is due to the design and other inputs that Apple has put into the iPod, so it would be hurt the most. 

	d)
	the Chinese companies that designed the iPod and manufacture most of its parts would be hurt the most.  No, Chinese manufacturing costs are not the largest share of the costs of the iPod.

	
	

	___ 18
	Stockholders receive returns on their financial investment in the form of _____ and _____. 

	a)
	capital gains; dividends  Yes.

	b)
	IPOs; capital gains 

	c)
	interest payments; stock brokers' fees

	d)
	interest payments; deposits 

	
	


	___ 19.
	There is some discussion about imposing a minimum wage to help low income individuals.  The following table shows the quantity of labor supplied and demanded at different wages. If the minimum wage is set at $7.00 per hour, there are ____ workers demanded and ____ workers supplied.

Wage per hour

Quantity Supplied

Quantity Demanded

$5.50

2,800

3,500

$6.00

3,000

3,000

$6.50

3,300

2,800

$7.00

3,700

2,500

$7.50

4,200

2,100

$8.00

4,800

1,800



	a)
	3,700; 2,500

	b)
	2,500; 3,700

	c)
	2,100; 4,200

	d)
	3,000; 3,000


At $7 per hour, there are 3,700 people trying to work (quantity supplied)  but firms only want to hire 2,500 (quantity demanded).  
	___ 20
	In a free market, if the price of a good is below the equilibrium price, then 

	a)
	suppliers, dissatisfied with growing inventories, will raise the price.  Suppliers will not face growing inventories.  They will not want to produce as much at a lower price.

	b)
	government needs to set a lower price.    Makes no sense.

	c)
	government needs to set a higher price.  Makes no sense.  Government should not set price. How does it know what the price should be?

	d)
	suppliers, dissatisfied with growing inventories, will lower the price.   No.  See a.

	e)
	demanders, wanting to ensure they acquire the good, will bid the price higher.   Yes.  If the price is below equilibrium, the quantity demanded is greater than quantity supplied and buyers will bid up the price.


	___ 21.
	In the Czech Republic, it takes two workers to produce a camera and three workers to produce a gallon of jam. In Bulgaria, it takes three workers to produce a camera and it takes two workers to produce one gallon of jam. The opportunity cost

	a)
	of three cameras in the Czech Republic is two gallons of jam   In Czech it will take 6 workers to produce 3 cameras.  Six workers can produce 2 gallons of jam.  

	b)
	of one camera in Bulgaria is two gallons of jam   In Bulgaria 3 workers produce one camera.  They can also produce 1.5 gallons of jam.

	c)
	of two cameras in the Czech Republic is 3 gallons of jam.  In Czech 4 workers can produce 2 cameras. They can also produce 1.3 gallons of jam.

	d)
	of three cameras in Bulgaria is two gallons of jam  In Bulgaria, 9 workers can produce 3 cameras. They can also produce 4.5 gallons of jam. 


	___ 22.
	Protectionism affects domestic consumers by

	a)
	reducing prices

	b)
	increasing imports

	c)
	increasing exports

	d)
	raising prices   Yes



	___ 23.
	Say that a particular country produces only two goods and has an absolute advantage in the production of both of these goods. Then

	a)
	it can benefit from trade by specializing in either of the two goods it has an absolute advantage in

	b)
	it can benefit from trade only if it finds a new country to trade with so that it does not have an absolute advantage in both goods

	c)
	it can benefit from trade by specializing in the good that it has a comparative advantage in Trade is based on comparative advantage, not absolute advantage.

	d)
	it cannot benefit from trade with any other country


	___ 24. 
	An increase in the price of oranges would lead to

	a)
	a movement up the supply curve for oranges.  Yes, an increase in price means suppliers move up the supply curve.  Note that the price change results from some external change which is not specified in this question.

	b)
	an increased demand for oranges.    No.  A price change does not shift demand.

	c)
	an increased supply of oranges.  No.  A price change does not shift supply.

	d)
	a reduction in the prices of inputs used in orange production. A reduction in input prices will shift the entire supply curve, not lead to a  movement along it. 


	___ 25
	When trade expands, industries that are exporting tend to see a(n) ____ in the number of jobs, while industries that are strongly affected by imports tend to see a(n) ____ in the number of jobs.

	a)
	decrease, decrease

	b)
	decrease, increase

	c)
	increase, increase

	d)
	increase, decrease  When nations trade, exporting industries expand and importing industries contract.  In the aggregate, the exporting industries pay more than the importing industries, although the question did not ask about this issue..

	
	


	___ 26. 
	Consider the market for oranges. Recent studies have indicated that oranges might cure the common cold. This will cause the ____ to shift ____.

	a)
	demand, right   People now have a greater demand, at any price, for oranges, so demand shifts right. 

	b)
	supply, left

	c)
	supply, right

	d)
	demand, left

	___ 27
	Demand and supply in the market for portable mp3 players is illustrated in the following table. The quantities correspond to millions of mp3 players. If income levels increase so that demand doubles at each price, then the equilibrium price will

Price

Quantity Demanded

Quantity Supplied

$50

10   20
4

$100

8   16
8

$150

6   12
12

$200

4   8
16

$250

2    4
10



	a)
	increase by $50

	b)
	decrease by $100

	c)
	decrease by $50

	d)
	increase by $100


The new quantity demanded after incomes double is shown next to the original numbers.  The new equilibrium, where quantity supplied equals quantity demanded, is at a quantity of 12 and a price of $150.  The original equilibrium price was $100, when quantity demanded and quantity supplied were both 8.  So the price has increased by $50.
	___ 28.
	The initial demand and supply in the market for bread is illustrated in the following table. The quantities correspond to millions of loaves. The price of flour, a key input for bread production, falls, so that the quantity supplied changes by a quantity of 70 at each price. The new equilibrium price and quantity in the market will be

Price

Quantity Demanded

Quantity Supplied

$0.80

300

90  160
$1.00

260

120  190
$1.20

220

150  220
$1.40

180

180   250
$1.60

140

210  280
$1.80

100

240   310


	a)
	$1.60, 140

	b)
	$1.20, 150

	c)
	$1.20, 220

	d)
	$1.60, 180


I have shown the increase in production that results from a fall in the price of flour.  The old equilibrium was at a price of $1.40.  The new equilibrium is at a price of $1.20 and the quantity is 220.

	___ 29
	An example of the opportunity cost associated with attending college full-time is

	a)
	the cost of tuition

	b)
	the cost of room and board

	c)
	the cost of books

	d)
	the earnings foregone by spending time in full-time education   This is the true opportunity cost.  What you give up to go to college.


	___ 30.
	A poor country has decided to set a price ceiling on medicine, to make sure that it is available to the poor. The supply and demand are given in the table below. There is a shortage of 1,500 units of medicine when a price ceiling is placed at 

Price

Quantity Demanded

Quantity Supplied 

$4

2,000

500

$5

1,750

1,000

$6

1,500

1,500

$7

1,250

2,000

$8

1,000

2,500



	a)
	$6

	b)
	$8

	c)
	$5

	d)
	$4 At the (low) price of $4 (below the equilibrium price of $6) producers will produce 500 units and people will want to buy 2,000.  There is a shortage of 1,500.

	e)
	$7


	___ 31
	Over a sustained period of time, ___ have the highest average return of the following forms of investment.

	a)
	savings accounts

	b)
	Stocks  Correct answer. 

	c)
	checking accounts

	d)
	bonds


	___ 32
	When the price of a good is above its equilibrium value, 

	a)
	excess demand will occur.  Just the opposite. There is excess supply.

	b)
	it will tend to stay above the equilibrium value.   No.  Market forces will tend to push the price down to its equilibrium.

	c)
	suppliers will lower the price.  Yes.

	d)
	consumers will bid the price up. No. The price is already above equilibrium. It won’t go even higher.

	e)
	suppliers will notice their inventories are shrinking.  No.  They will notice that they are producing more than they can sell.  Their inventories are rising. 


	___ 33.
	Price ceilings and price floors

	a)
	can be enacted to restore a market to equilibrium.  No.  They move the economy away from equilibrium.

	b)
	are imposed because they can make the poor in the economy better off without causing any adverse effects.  No. they may help the poor (and they may not) but they definitely cause adverse effects.

	c)
	cause surpluses and shortages to persist since price cannot adjust to the market equilibrium price.  True.

	d)
	are desirable because they make markets more efficient as well as equitable.  No. they make markets less efficient.


	___ 34.
	The country of Sunnydale exports umbrellas to the country of Wetmarsh. Information for the supply and demand curves in each country, in a world with no trade, is given in the table below. The equilibrium price after trade will be ____ and ____ units will be exchanged between countries. 

Sunnydale

Wetmarsh

Price  

Quantity

Supplied

Quantity

Demanded

Quantity

Supplied

Quantity

Demanded

$6

15

40

$6

40

90

$7

30

30

$7

50

85

$8

40

20

$8

60

80

$9

60

15

$9

70

70

$10

70

12

$10

80

65

$11

80

10

$11

90

60



	a)
	$9, 40

	b)
	$6, 25

	c)
	$10, 15

	d)
	$8, 20


Before trade, the price in Sunnydale was $7 and in Wetmarsh it was $9.  Cheap umbrellas in Sunnydale will be exported to Wetmarsh.  We therefore know that the price will be somewhere between $7 and $9.  $8 is a good place to start.  At $8, Sunnydale will produce 10 more umbrellas (total of 40) and only consume 20.  That means that 20 will be exported to Wetmarsh.  At a price of $8, 80 umbrellas are produced in Wetmarsh but only 60 are supplied by domestic producers.  Where do the other 20 come from?  Sunnydale. 
	___ 35
	You have responsibility for economic policy in the country of Fredonia. Recently the neighboring country of Grand Fenwick has cut off all exports of oranges to Fredonia. Harpo, who is one of your advisors, suggests that you should impose a price ceiling in order to avoid a shortage of oranges. Chico, another one of your advisors, argues that without a price floor, a shortage will certainly develop. Zeppo, a third advisor, says that the best way to avoid a shortage of oranges is to take no action at all. Which of your three advisors is most likely to have studied economics?

	a)
	Zeppo  Taking no action would mean the price of oranges in Fredonia will rise until the quantity demanded equals the quantity supplied, the market clearing price.

	b)
	none of them 

	c)
	Chico   If the price floor was implemented above the new equilibrium price it would raise the price even  higher and the government would have to buy surplus oranges.   

	d)
	Harpo  If there was a price ceiling, there would be a shortage of oranges in Fredonia. 


	___ 36.
	In Norway, one worker can produce either 8 pounds of smoked fish or 8 barrels of oil. In Saudi Arabia, one worker can produce either 5 pounds of smoked fish or 10 barrels of oil. In this example,

	a)
	Saudi Arabia should specialize in the production of oil and Norway should specialize in the production of fish

	b)
	Norway should produce both goods

	c)
	Saudi Arabia has an absolute advantage in the production of both goods

	d)
	Norway should specialize in the production of oil and Saudi Arabia in the production of fish


In Norway, 1 fish trades for 1 barrel of oil.  In Saudi Arabia, 1 fish will trade for 2 barrels of oil  Fish are expensive in Saudi Arabia and cheap in Norway, so Norway has a comparative advantage in fish and Saudi Arabia has a comparative advantage in oil. 

	___ 37.
	Consider the financial capital market for car loans. If people believe that economic growth is stagnating and they may lose their jobs, then

	a)
	there will be fewer loans at a lower interest rate Demand for loans falls so price falls and quantity demanded (and quantity supplied) falls. 

	b)
	there will be more loans at a higher interest rate

	c)
	there will be more loans at a lower interest rate

	d)
	there will be fewer loans at a higher interest rate


	___ 38
	The current price of a stock increases when: 

	a)
	the expected future price of the stock decreases.   If people expect the price to be lower in the future, they won’t want to buy it, demand falls and price falls. 

	b)
	the perceived riskiness of the stock increases.   Increase riskiness means a lower price.

	c)
	expected future dividends decrease.   Lower future dividends means the present value of those dividends is less so the stock is worth less.

	d)
	interest rates decrease.   Lower interest rates means the present value of the future dividends is higher, so the stock is worth more.


	___ 39.
	McD is running a $0.99 Small Mac special. This is likely to cause 

	a)
	a decrease in the supply 

	b)
	a decrease in the quantity demanded 

	c)
	an increase in the quantity demanded  A reduction in price (which is what a special is) is a movement down a demand curve, which is an increase in the quantity demanded. 

	d)
	an increase in the demand 

	e)
	a decrease in the demand 


	___ 40
	If a poor country trades with a rich country what is the most likely result?

	a)
	the poor country can benefit and the increase in its income will improve the welfare of its citizens.  Yes, that is the point of trade, whether it is with other people, other states, or other nations. 

	b)
	unless it has natural resources like oil, the poor country has nothing to offer and should not trade with the rich country. No, it is comparative advantage, not mineral resources, that determine trade and whether a country has anything to offer.  

	c)
	if the poor country trades, trade is unlikely to contribute to economic growth.  Just the opposite.  As we showed in class, those countries that trade the most are the ones that are the richest and that have grown the fastest. 

	d)
	if the poor country trades, trade may lead to economic growth, but it is unlikely to affect the welfare or health of the nation's people.   No, economic growth leads to rising welfare—longer life expectancy, better healthy, less childhood mortality, etc. 
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